AT11002
Installation Instructions

2000-2007 Chevy Silverado 1500 Extended Cab
2000-2007 GMC Sierra 1500 Extended Cab
2001-2007 Chevy Silverado HD Extended Cab
2001-2007 GMC Sierra HD Extended Cab

Important Notes:

2006 and newer General Motors trucks have a larger cab mount bolt than in previous
years. You will need to reuse your factory cab mount bolts when installing this kit on
those trucks.

GM released new body style Silverado and Sierra trucks in 2007. These trucks have a
boxed frame, but it is possible to install the front support braces using the shorter bolt
plates. The rear brace is not used on new body 2007 trucks.

1. Before installing, review the installation instructions carefully. Be sure you have
all hardware shown in the diagram. (You may have some extra hardware)

2. Locate the body mount bolts located under the cab behind the inner wall of the
rocker panel.

3. Remove the front body mount bolt and discard. Be sure to keep the rubber
bushing. Using a long bolt, lock washer and flat washer install the bracket and
rubber bushing. Leave the bolt loose for now.

4. Locate the two holes on the underside of the frame. Insert the bolt plate through
the larger hole, so the bolt drops through the smaller hole. An alternative method
is to insert the bolt plate through the cut out area a little farther back on the inside
of the frame. Either method will require some maneuvering.

5. Attach the front support brace to the bolt plate you just installed. Leave it loose
for now.

www.AnythingTruck.com AT11002
Page 1 of 3




6. Remove the rear body mount bolt and discard. Be sure to keep the rubber
bushing. Using a long bolt, lock washer and flat washer install the bracket and
rubber bushing. Leave the bolt loose for now.

7. Locate rear support braces. If your truck's rear body mount does not have three
holes on the side, complete this step and ignore step 8. Use the longer brace and
mount clamp. Place the mount clamp on inside edge of frame. Bolt the brace to
the mount clamp. Leave it loose for now.

8. If your truck's rear body mount has three holes on the side, bolt the shorter brace
to the center hole on the rear body mount. Leave it loose for now.

9. Identify the driver and passenger side step tubes. Install a M14 bolt with lock
washer and flat washer through the rear support brace and bracket into the tube.
Leave it loose for now.

10.Install a M14 bolt with lock washer and flat washer through the front support
brace and bracket into the tube.

11.Tighten the M14 bolts holding the tube to the brackets before any others. Then
tighten remaining bolts.

12.Repeat the steps above on the other side.

BOLT PLATE FRAME LemTTTTTT
L ) é L ‘
\ f=] K- N —— Y

m!:“focﬁ»\g%gw ‘@ : [ f~—ma mEx soLT
M14 FLAT WASHER—‘_:'\@ QI/Z’ FLAT WASHER ! M14 LOCK WASHER

a 2. \ 1/2” LOCK WASHER 14 FLAT WASHER

L @—~—1/2-13 HEX NUT ‘ 7
FRONT MOUNT BRACKET—- AN FRONT BRACE REAR MOUNT BRACKET

(&) —1/2" FLAT WASHER Y R ,
——1/2" LOCK WASHER S5y ——1/27 FLAT WASHER
Ur—M12-1. 75x120MM HEX BOLT f-— STEP BAR 172" LOCK WASHER

)~ M12-1. 75x120MM
HEX BOLT

www.AnythingTruck.com AT11002
Page 2 of 3



Bopy FRiye

Driver Side Shown

www.AnythingTruck.com

1/27=13 HEX NUT
1/2" FLAT WASHER
1/2" LOCK WASHER
1/2%=1%x2 HEX BOLD

AT11002
Page 3 of 3



